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5 1982 176 210 478
6 1983 181 216 512
7 1984 186 221 567
8 1985 194 229 620
9 1986 201 235 678
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13 1990 243 277 1091
14 1991 249 289 1048
15 1992 254 293 1071
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17 1994 262 299 1122
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20 1997 276 304 1278
21 1998 273 304 1279
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23 2000 277 301 1396
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H Cc2 =G2/H2*100 C
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Rz 096171
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F
3 80.31175 26.77058 359.998 1.8E-30
43 3197615 0.074363
46 83.50936
t P- 95% 95% 95.0% 95.0%
0.326943 0.513461 0.636744 0527667 -0.70855 1.362435 -0.70855 1.362435
1 0.4468 0.019927 224222 2.36E-25 0406614 0.486986 0.406614 0.486986
2 -0.00059 0.001135 -0.52099 0.605047 -0.00288 0.001698 -0.00288 0.001698
3 -0.00584 0.00271 -2.15413 0.036877 -0.0113 -0.00037 -0.0113 -0.00037
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